
>15 mm

<15 mm

A1

B1

12

1

3

13

8

2

4

7

14

5

6

11

10

9 M5x18mm

M5x22mm

3 mm

2,5 mm

M5

M3

click

click

3 4 521

A3 A4 A5A2A1

A11 A12 A13A10A9A8A7A6

A14 A15 A16 A17 A18 A19 A20

1 - Talonnière / Talloniera
2 - Système de glissière ajustable /
Slitta di regolazione talloniera
3 - Butoir du curseur / Vite fermo cursore
4 - Partie supérieure de la pince / Parte 
superiore della pinza
5 - Partie inférieure de la pince / Parte 
inferiore della pinz
6 - Vis de réglage talonnière M3 / Viti di 
regolazione M3
7 - Ecrous à collerettes / Dadi flangiati
8 - Vis de fixation de la pince M5 18mm /
Viti di regolazione M5 18mm
9 - Vis de fixation de la pince M5 20mm /
Viti di regolazione M5 20mm
10 - Curseur / Cursore 
11 - Guide protecteur de l’élastique / 
Archetto di protezione dell’elastico
12 - Élastique / Elastico
13 - Attache latérale / Aggancio laterale
14 - Couvercle de l’attache / Coperchietto 
dell’aggancio laterale

COMPOSANTS / COMPONENTI

FR - Ouvrir le curseur et 
libérer le guide protecteur de 
l’élastique à l’aide de l’outil 
fourni.

IT - Aprire il cursore e liberare 
la protezione dell’elastico con 
l’utensile in dotazione.

FR - Enlever vos anciennes
sangles ou bungees.

IT - Rimuovere il cinghiolo o 
l’elastico presente sulla vostra 
pinna.

FR - En fonction de l’épaisseur de la partie 
arrière de votre palme régler la pince:  
A1 Toutes les palmes. 
B1 Scubapro Seawing Nova.

IT - In funzione dello spessore della pinna, 
regolare la pinza:
A1 Tutte le pinne;
B1 Scubapro Seawing Nova

FR - Dévisser la vis d’arrêt (1) pour sortir le curseur de son logement (2).

IT - Svitare la vite di fermo (1) e rimuovere il cursore (2).

FR - Une fois la pince mise en place serrer
modérément les deux vis.

IT - Procedere al bloccaggio della pinza 
avvitando, senza forzare troppo, le due viti.

FR - Afin de régler la longueur idéale
desserrer les deux vis de la glissière
ajustable avec la clé allen M3.

IT - Utilizzando la chiave M3, allentare le 
viti di regolazione poste sulla slitta della 
talloniera fino a permetterne lo 
scorrimento.

FR - Baisser la talonnière pour que celle-ci
soit complètement à plat.

IT - Abbassare la talloniera.

FR - A l’aide de la clé allen M5 desserrer les deux vis de fixation de la pince (A1) afin de pouvoir
l’engager complètement sur le talon de la palme (A2).

IT - Utilizzando la chiave M5, allentare le viti di chiusura (A1) per consentire il completo 
inserimento della pinza nella parte posteriore della pinna (A2).

FR - Introduire avec une légère pression 
l’élastique Finclip dans le guide protecteur, 
celui-ci devant se positionner au centre.

IT - Con una leggera pressione, applicare la 
protezione al centro dell’elastico di Finclip 
e chiuderlo all’interno del cursore.

FR - Ouvrir et ôter le couvercle des 
fixations latérales en faisant levier avec 
l’outil fourni.

IT - Con l’utensile in dotazione, fare leva 
per aprire e rimuovere il coperchio 
dell’aggancio laterale.

FR - Insérer le curseur sur le guide de
protection en poussant jusqu’au clic de
verrouillage.

IT - Assicurare entrambi gli agganci laterali 
ai supporti rigidi della pinna. 
Eventualmente lubrificare i supporti rigidi 
con del sapone liquido per facilitare 
l’operazione.

FR - Bloquer la glissière en serrant les
deux vis.

ITA - Bloccare la posizione della talloniera 
stringendo le due viti.

FR - Enlever le bottillon de la palme en 
faisant attention de ne pas changer la 
position de la glissière.

IT - Sfilare il calzare facendo attenzione a 
non muovere inavvertitamente la slitta 
della talloniera.

FR - Fermer les couvercles en mettant d’abord en position les 2 dents
d’emboîtage postérieures et en poussant ensuite la dent d’emboîtage
antérieure jusqu’à entendre le click de verrouillage.

IT - Chiudere i coperchietti inserendo prima i due dentini posteriori 
nelle loro sedi e quindi premere su quello anteriore fino a udire il click 
di bloccaggio.

FR -  La tension de l’élastique est 
déterminée par le positionnement du 
pontet dans les crans.

IT - La scelta della posizione va fatta in 
funzione della tensione dell’elastico 
desiderata.

FR - Revisser la vis d’arrêt du curseur 
(A16). Insérez les pontets dans une des 
trois positions (A17).

IT - Riavvitare la vite di fermo del cursore  
(A16). Inserire i nottolini dell’elastico in 
una delle tre posizioni previste (A17).

FR - Relever la talonnière (A7) afin d’avoir
la bonne inclinaison (A8).

ITA - Sollevare la talloniera (A7) e regolare 
la sua posizione facendo scorrere la slitta. 
Questa operazione consentirà di trovare la 
corretta posizione della talloniera per il 
vostro piede (A8).

FR - Positionner le curseur en le faisant
glisser sur le rail de la talonnière. Faire
attention au sens du positionnement de
celui-ci, la charnière devant se trouver vers
le haut.

IT - Reinserire il cursore nella guida della 
talloniera assicurandosi che la cerniera del 
cursore sia rivolta verso l’alto.

FR - Chausser un de vos bottillons (ou
introduire un élément rigide à l’intérieur
de celui-ci) et mettre le bottillon dans
votre palme. Cette opération vous permet
de pouvoir régler la position idéale de la
talonnière.

IT - Indossare il proprio calzare (o simulare 
la presenza del piede al suo interno con 
del materiale di  riempimento) e inserirlo 
nella pinna. 

FR - Insérez le curseur sur le guide de 
protection en poussant jusqu’au clic de 
verrouillage.

IT - Premere sul cursore fino a udire il 
“click” di bloccaggio.

FR - Avant de vous servir de Finclip, merci de faire quelques essais à sec pour vous familiariser à sa manipulation.

IT - Provare sempre la calzata a terra ripetendola alcune volte al fine di apprendere la giusta tecnica.

INSTRUCTIONS DE MONTAGE / ISTRUZIONI DI MONTAGGIO
Vue éclatée / Esploso Outils / Strumenti

1 - Pieza del talón / Heelpiece
2 - Placa de pieza de talón deslizante 
ajustable / Adjustable sliding heelpiece plate
3 - Tornillo de tope del cursor / Cursor stop 
screw 
4 - Parte superior de la abrazadera / Topside 
of the clamp
5 - Parte inferior de la abrazadera / 
Underside of the clamp
6 - Tornillos de ajuste de cabeza Allen M3 / 
Allen head adjustment bolts M3
7 - Pernos de cabeza Allen con bridas / 
Flanged Allen head bolts
8 - Tornillos de ajuste de cabeza Allen M5 18 
mm / Allen head adjustment bolts M5 18mm
9 - Tornillos de ajuste de cabeza Allen M5 20 
mm / Allen head adjustment bolts M5 20mm
10 - Cursor / Cursor
11 - Protector elástico curvo / Curved elastic 
protector
12 - Correa elástica / Bungee strap 
13 - Hebilla lateral / Side buckle 
14 - Cubierta de hebilla lateral / Side buckle 
cover 

LISTA DE COMPONENTES / PART LIST

SP - Con un destornillador 
pequeño de punta plana, abra 
el cursor para liberar el 
protector elástico curvo.

EN - Using a small flat-tip 
screwdriver, open the cursor 
to free the curved elastic 
protector.

SP - Quítate la hebilla o el 
bungee de tu aleta.

EN - Remove the buckle or 
bungee on your fin.

SP - Ajuste la configuración de la bisagra de 
la abrazadera según el grosor de sus aletas:
A1 Todas las aletas.
B1 Scubapro Seawing Nova.

EN - Adjust the clamp hinge setting as per 
the thickness of you fins: 
A1 All fins.
B1 Scubapro Seawing Nova.

SP - Desenrosque el cursor de detención (1) y quite el cursor (2).

EN - Unscrew the cursor stop (1) and remove the cursor (2).

SP - Apriete los 2 pernos de cabeza Allen 
en la parte inferior de la abrazadera para 
asegurar firmemente, sin apretar 
demasiado.

EN - Tighten the 2 Allen head bolts on the 
underside of the clamp to secure firmly, 
without over-tightening.

SP - Afloje los tornillos Allen con una llave 
Allen M3 en la placa deslizante ajustable 
del talón en la parte superior de la 
abrazadera hasta que se deslice 
libremente.

EN - Loosen the Allen bolts with a M3 Allen 
key on the adjustable sliding heelpiece 
plate on the topside of the clamp until it 
slides freely.

SP - Baje la pieza del talón.

EN - Lower the heelpiece.

SP - Afloje los pernos de cabeza Allen en el lado inferior de la abrazadera con una llave Allen 
(A1) para permitir que la parte posterior de la aleta se inserte completamente dentro de la 
abrazadera (A2).

EN - Loosen the Allen head bolts on the underside side of the clamp with a Allen key (A1) to 
allow the back of your fin to be fully inserted inside the clamp (A2).

SP - Presione suavemente el protector 
elástico curvo sobre el centro del elástico 
Finclip y ciérrelo dentro del cursor.

EN - Gently press the curved elastic 
protector over the centre of the Finclip 
elastic and close it inside the cursor.

SP - Con la herramienta provista, abra 
suavemente las pestañas traseras de las 
dos cubiertas de los conectores laterales.

EN - With the tool provided, gently lever 
open the rear tabs on the two side 
connector covers.

SP - Adjunte ambas hebillas laterales a los 
soportes rígidos en su aleta. Use jabón 
líquido para lubricar los soportes si es 
necesario.

EN - Attach both of the side buckles to the 
rigid supports on your fin. Use liquid soap 
to lubricate the supports if necessary.

SP - Apriete los dos tornillos de cabeza 
Allen de la placa de ajuste en la parte 
superior de la abrazadera para asegurar la 
posición del talón.

EN - Tighten the two adjustment plate 
Allen head bolts on the topside of the 
clamp to secure the position of the 
heelpiece.

SP - Retire la bota con cuidado, sin 
cambiar la posición de la pieza del talón.

EN - Remove the boot carefully, without 
changing the position of the heelpiece.

SP - Cierre las cubiertas colocando primero las dos pestañas traseras y 
luego cerrándolas hasta que escuche que la pestaña delantera encaja 
en su lugar.

EN - Close the covers by first positioning the two rear tabs and then 
closing until you hear the front tab click into place.

SP - La elección de la posición depende de 
qué tan apretado desee que sea el 
elástico.

EN - The choice of position depends on 
how tight you want the elastic to be.

SP - Apriete el tornillo de detención del 
cursor (A16). Conecte los ganchos ubicados 
en cada extremo del elástico a una de las 
tres posiciones disponibles (A17).

EN - Tighten the cursor stop screw (A16). 
Connect the hooks located at each end of 
the elastic to one of the three available 
positions (A17).

SP - Levante la pieza del talón (A7) y 
ajuste la placa de talón deslizante 
ajustable para encontrar la posición 
cerrada correcta para su pie (A8).

EN - Raise the heelpiece (A7) and adjust 
the adjustable sliding heelpiece plate to 
find the correct closed position for your 
foot (A8).

SP - Vuelva a colocar el cursor en la pista 
del talón asegurándose de que la pinza del 
cursor esté hacia arriba.

EN - Reposition the cursor in the heelpiece 
track making sure that the cursor clamp is 
facing upwards.

SP - Póngase la bota de buceo (o simule la 
presencia de su pie rellenándolo con algo) 
y deslice la bota en la aleta. Esto le 
permitirá encontrar la posición correcta 
del talón.

EN - Put on your diving boot (or simulate 
the presence of your foot by stuffing it with 
something) and slide the boot into the fin. 
This will allow you to find the correct 
positioning of the heelpiece.

SP - Presione el cursor hasta que escuche 
un clic en su lugar.

EN - Press the cursor until you hear it click 
into place.

SP - Siempre intente en tierra firme varias veces para aprender la técnica correcta para ponerse y quitarse.

EN - Always try out on dry land a few times to learn the right doning and doffing technique.

 INSTRUCCIONES DE MONTAJE / ASSEMBLY INSTRUCTIONS
Vista en despiece ordenado / Exploded View  Herramientas / Tools

1 - Fersenhebel / Heelpiece
2 - Befestigungsschlitten / Adjustable 
sliding heelpiece plate
3 - Gleiteranschlag / Cursor stop screw 
4 - Oberteil Klemme / Topside of the clamp
5 - Unterteil Klemme / Underside of the 
clamp
6 - Einstellschrauben M3 / Allen head 
adjustment bolts M3
7 - Bundmuttern / Flanged Allen head 
bolts
8 - Fersengelenk M5 18mm / Allen head 
adjustment bolts M5 18mm
9 - Fersengelenk M5 20mm / Allen head 
adjustment bolts M5 20mm
10 - Gleiter / Cursor
11 - Bungeeschutz / Curved elastic 
protector
12 - Bungee / Bungee strap 
13 - Bungeeschnalle Unterteil / Side 
buckle 
14 - Bungeeschnalle Oberteil / Side buckle 
cover 

STÜCKLISTE / PART LIST

DE - Verwenden Sie das 
beigefügte Werkzeug, um den 
Gleiteranschlag zu drehen und 
das Bungeeteil zu lösen.

EN - Using the tool provided, 
open the cursor to free the 
curved elastic protector.

DE - Bauen Sie nun den 
Bungee Strap von Ihrer Flosse 
ab.

EN - Remove the buckle or 
bungee on your fin.

DE - Wählen Sie je nach Stärke Ihrer Flosse 
die entsprechende Klemmeneinstellung aus:
A1 Alle flossen.
B1 Scubapro Seawing Nova.

EN - Adjust the clamp hinge setting as per 
the thickness of you fins: 
A1 All fins.
B1 Scubapro Seawing Nova.

DE - Die Halteschraube (1) lösen und den Gleiter (2) entfernen.

EN - Unscrew the cursor stop (1) and remove the cursor (2).

DE -  Ziehen Sie die beiden Inbusschrauben 
wieder fest, aber bitte ohne sie dabei zu 
überdrehen!

EN - Tighten the 2 Allen head bolts on the 
underside of the clamp to secure firmly, 
without over-tightening.

DE - Lösen Sie nun die beiden 
Inbusschrauben am Befestigungsschlitten 
auf der Oberseite der Basisklemme, damit 
sich der Schlitten problemlos bewegen 
läßt.

EN - Loosen the Allen bolts with a M3 Allen 
key on the adjustable sliding heelpiece 
plate on the topside of the clamp until it 
slides freely.

DE - Positionieren Sie den Fersenhebel 
nach hinten bzw. nach unten.

EN - Lower the heelpiece.

DE  - Lösen Sie nun die beiden Inbusschrauben an der Unterseite der Basisklemme (A1) 
dadurch kann sie problemlos auf den Flossenboden geschoben und befestigt werden (A2).

EN - Loosen the Allen head bolts on the underside side of the clamp with a Allen key (A1) to 
allow the back of your fin to be fully inserted inside the clamp (A2).

DE - Drücken Sie den abgerundeten 
Bungeeschutz über die Mitte des 
Finclip-Bungees und umschließen Sie 
beides mit dem offenen Gleiter.

EN - Gently press the curved elastic 
protector over the centre of the Finclip 
elastic and close it inside the cursor.

DE - Benutzen Sie das beiliegende 
Werkzeug um die Außenseite der 
Bungeeschnalle zu lösen.

EN - With the tool provided, gently lever 
open the rear tabs on the two side 
connector covers.

DE - Befestigen Sie beide Seitenteile 
(Bungeeschnallen) an der rechten und 
linken Flossenseite. Falls notwendig 
benutzen Sie etwas flüssige Seife als 
Gleitmittel.

EN - Attach both of the side buckles to the 
rigid supports on your fin. Use liquid soap 
to lubricate the supports if necessary.

DE - Ziehen Sie nun beide Inbusschrauben 
an der Oberseite der Basisklemme fest, um 
den Befestigungsschlittens an der 
gewünschten Position zu fixieren.

EN - Tighten the two adjustment plate 
Allen head bolts on the topside of the 
clamp to secure the position of the 
heelpiece.

DE - Entnehmen Sie den Füssling aus der 
Flosse, ohne dabei die Position des 
Befestigungschlittens bzw. des 
Fersenhebels zu verändern.

EN - Remove the boot carefully, without 
changing the position of the heelpiece.

DE - Schließen Sie nun die beiden Bungeeschnallen mit den vorher 
gelösten Außenseiten - starten sie am hinteren Ende und drücken sie 
am Schluss am vorderen Ende - bis es klick macht! Dadurch wird die 
Position des Finclip-Bungees fixiert.

EN - Close the covers by first positioning the two rear tabs and then 
closing until you hear the front tab click into place.

DE - Welche Position Sie wählen, hängt 
davon ab, wie elastisch bzw. wie fest 
Finclip an Ihren Füßen sitzen soll.

EN - The choice of position depends on 
how tight you want the elastic to be.

DE - Die Halteschraube am Gleiter wieder 
anziehen (A16). Installieren Sie den 
Finclip-Bungee mit Hilfe seiner Haken an 
einer der drei möglichen Positionen (A17).

EN - Tighten the cursor stop screw (A16). 
Connect the hooks located at each end of 
the elastic to one of the three available 
positions (A17).

DE - Positionieren Sie den Fersenhebel nun 
an ihrer Ferse. (A7) Die obere Abbildung 
zeigt Ihnen, welche die optimale Position 
ist. Schieben Sie dafür den beweglichen 
Befestigungsschlitten entweder nach vorne 
oder weiter nach hinten (A8).

EN - Raise the heelpiece (A7) and adjust 
the adjustable sliding heelpiece plate to 
find the correct closed position for your 
foot (A8).

DE - Setzen Sie den Gleiter wieder auf den 
Fersenhebel und stellen Sie sicher, dass 
das Gelenk des Gleiters nach oben zeigt.

EN - Reposition the cursor in the heelpiece 
track making sure that the cursor clamp is 
facing upwards.

DE - Ziehen Sie nun einen Tauchfüssling an 
und schlüpfen Sie in die Flosse. So finden 
sie die korrekte Position des Fersenhebels 
an Ihrem Fuss. (Sie können ihren Fuss auch 
mit Hilfe von z. B. Papier im Füssling 
simulieren).

EN - Put on your diving boot (or simulate 
the presence of your foot by stuffing it with 
something) and slide the boot into the fin. 
This will allow you to find the correct 
positioning of the heelpiece.

DE - Drücken sie abschließend den Gleiter 
wieder zu, bis er sicher einklickt.

EN - Press the cursor until you hear it click 
into place.

DE - Probieren Sie Finclip zunächst an Land aus, um das richtige An- und Ausziehen zu erlernen.

EN - Always try out on dry land a few times to learn the right doning and doffing technique.

WIE SIE FINCLIP ZUSAMMENBAUEN / ASSEMBLY INSTRUCTIONS
Darstellung Einzelteile / Exploded View Werkzeug / Tools



9

8

B8 B9 B10B5 B6 B7B2 B3 B4B1

S2 S3 S4 S5 S6 S7

S8

S1

W1 W4

W2 W5

W6W3

FINCLIP S.r.l.

C.so L. Manusardi, 3
20136, Milan - Italy

support@finclip.cloud

www.finclip.it

v02.01.2019

Finclip is a trademark of FINCLIP S.r.l. in Italy. 
Layout and graphics by DESIGNSUMISURA.
Printed in Italy.

ART.CODE 60.02

0 735720 314846

FR - Oter complètement les vis de fixation 
de la pince et celles de la glissière.

IT - Rimuovere completamente le viti di 
bloccaggio della pinza e quelle della slitta 
talloniera.

FR - Maintenir solidement la partie supérieure de la pince puis faire coulisser la glissière vers 
l’arrière (B2), en appliquant une légère torsion (B3) afin de la sortir de son logement (B4).

IT - Afferrando saldamente la parte superiore della pinza e arretrando completamente la slitta 
talloniera (B2), applicare a quest’ultima una leggera torsione (B3) per svincolarla 
completamente dalla pinza (B4).

FR - Ouvrir complètement la pince afin de changer la position des axes métalliques en suivant le 
sens des flèches. Pousser un axe à la fois de la position A (B6) à la position B (B7).

IT - Aprire completamente la pinza e, premendo nel senso delle frecce (B5), spostare uno alla 
volta la posizione dei perni dal foro A (B6) al quello B (B7).

FR  - Remettre la glissière dans sa position 
initiale.

IT - Rimettere la slitta talloniera nella sua 
posizione originale.

FR - Remettre les vis dans leur
emplacement, les six pans des écrous vers 
le haut.

IT - Rimettere le viti di regolazione nei loro 
alloggiamenti facendo attenzione che la 
faccia zigrinata del bulloncino sia rivolta in 
basso.

FR - Remplacer les vis de la pince par les 
vis M5x22 (numéro 9 sur la vue éclatée) et 
suivre les instructions à partir de (A2).

IT - Sostituire le viti della pinza con quelle 
M5x22 (nr. 9 dell’esploso) e seguire le 
istruzioni da (A2).

FR - Ouvrir la talonnière et mettre 
l’élastique en tension en tenant la palme 
en main.

IT - Aprire la talloniera e mettere in 
tensione l’elastico tenendo la pinna in 
mano.

FR - Poser la palme par terre et la 
maintenir avec un pied.

IT - Mettere la pinna a terra e tenerla 
ferma con un piede.

FR - Enfiler l’autre pied dans la palme 
jusqu’au fond.

IT - Con l’altro piede calzarla fino in fondo.

FR - Quand le pied est bien inséré  
soulever légèrement la pointe de la palme. 
Simultanément pousser doucement sur le 
talon de façon à ce que la talonnière 
puisse se lever automatiquement.

IT - Una volta ben calzato il piede, 
sollevare leggermente la punta della pinna 
e operare una leggera pressione sul tallone 
per permettere il sollevamento automatico 
della talloniera.

FR - Répéter l’opération avec l’autre pied.

IT - Ripetere le stesse operazioni con 
l’altro piede.

FR - Pour enlever la palme dans l’eau, 
baisser la talonnière avec la main…

IT - Per sfilare la pinna in acqua abbassare 
la talloniera con la mano…

FR - ...et  pousser vers l’avant. La 
talonnière servira comme poignée pour 
s’opposer à l’effet ventouse et enlever plus 
facilement la palme quand on est dans 
l’eau.

IT - …e spingerla in avanti. La talloniera si 
rivelerà un ottimo appiglio per vincere 
l’effetto ventosa e sfilare agevolmente le 
pinne quando si è in acqua.

FR

Lire attentivement toutes les instructions 
figurant sur la notice avant d’assembler le 
produit.

Attention: conserver hors de la portée des
enfants. Le produit contient des
composants qui, si ingérés, peuvent causer
l’étouffement.

Attention: en cas de composants usés ou 
défectueux, s’adresser au fabricant.

Attention: Finclip est un accessoire pour la
plongée loisir. Ne pas utiliser pendant
les plongées en grotte ou épave.

Attention: ne pas utiliser Finclip sans 
bottillons de plongée.

Attention: ne pas marcher sur la talonnière 
dans la position à terre avec l’élastique en 
tension (W1).

Attention: ne pas faire déclencher la 
talonnière sans avoir d’abord mis le pied à 
l’intérieur de la palme (W2).

Attention: ne pas faire déclencher la 
talonnière avec la main dans la trajectoire 
de sa fermeture ou à l’intérieur de la 
palme (W3).

Attention: vérifier la position du guide 
protecteur de l’élastique avant et après 
avoir baissé la talonnière. Si le guide 
protecteur est tourné (W4) le remettre en 
position correcte comme dans la figure 
A16.

Attention: vérifier la position correcte de la 
partie supérieure de la pince par rapport à 
l’épaisseur de la palme. S’assurer 
également que la pince soit positionnée 
correctement en butée sur la palme et 
qu’elle ne bouge pas (W5, W6).

Pour garantir une plus grande sécurité: 
avant de plonger, vérifier le 
positionnement correct et l’intégrité 

du dispositif.
La modification ou manipulation des 
composants de Finclip peut impliquer des 
résultats non prévisibles et sont en dehors 
de la responsabilité du fabricant.

Tout mauvais usage par rapport à celui 
indiqué par le fabricant peut impliquer des 
résultats non prévisibles et qui ne 
dépendent pas du fabricant.

Il est conseillé de rincer Finclip à l’eau 
douce après chaque plongée et de ne pas 
le laisser exposé au soleil pendant un 
temps prolongé.

Finclip ne peut pas se monter sur les 
palmes techniques car le talon reste 
complètement à l'extérieur de la base de la 
palme et la pince ne peut donc pas le 
contenir.

La glissière de réglage de la talonnière de 
Finclip a une course lui permettant de 
s'adapter aux tailles de chaussettes 
supérieures au 46 EU-IT (UK size 11- USA 
size12).

Pour éviter des ruptures, ne marchez pas 
avec les palmes lorsque le Finclip est 
monté.

Garantie: le produit est garanti contre tout 
défaut de conformité dans les conditions 
d’utilisation normales, conformément au 
mode d’emploi. La garantie ne sera pas 
appliquée en cas de dommage résultant 
d’un usage impropre, usure ou accident. La 
durée de garantie contre tout défaut de 
conformité dépend du pays d’achat. 

Visitez le site finclip.it pour visionner le
tutoriel de montage et d’utilisation de
Finclip.

IT

Leggere attentamente tutte le indicazioni 
riportate in questo foglietto prima di 
assemblare e utilizzare il prodotto.

Attenzione: tenere fuori dalla portata dei 
bambini. Il prodotto contiene parti che, se 
ingerite, possono portare al soffocamento.

Attenzione: nel caso risultassero parti 
usurate o mal funzionanti, è necessario 
rivolgersi al produttore.

Attenzione: Finclip è un’accessorio per la 
subacquea ricreativa, non utilizzare 
durante le immersioni in grotta o in relitti.

Attenzione: non utilizzare finclip senza 
aver indossato i calzari.

Attenzione: non calpestare la talloniera 
una volta posizionato il dispositivo a terra 
con l’elastico in tensione (W1).

Attenzione: non far scattare la talloniera 
senza aver infilato il calzare all’interno 
della pinna (W2).

Attenzione: non far scattare la talloniera 
avendo le mani sulla traiettoria di chiusura 
della stessa o all’interno della pinna (W3).

Attenzione: verificare la posizione 
dell’archetto di protezione dell’elastico 
prima di abbassare la talloniera e dopo 
averla abbassata. Nel caso si fosse girato 
(W4) riposizionare correttamente 
l’archetto come mostrato nella figura A16.

Attenzione: verificare il corretto 
posizionamento della parte superiore della 
pinza in relazione allo spessore della 
pinna. Assicurarsi inoltre che la pinna sia 
inserita nella pinza fino in fondo e che non 
si muova se sollecitata (W5,W6).

Per una maggiore sicurezza, prima di 
effettuare un’immersione, verificare 
sempre il corretto posizionamento e 
l’integrità del dispositivo.
 
La modifica o la manomissione di parti di 
Finclip può comportare esiti non 
prevedibili che prescindono dalla 
responsabilità del produttore.

Ogni uso scorretto rispetto a quello 
indicato può portare a conseguenze non 
prevedibili dal produttore e da esso non 
dipendenti.

Si consiglia di risciacquare sempre Finclip 
con acqua dolce dopo ogni immersione e 
di non lasciarlo esposto ai raggi solari per 
un tempo prolungato.

Finclip non può essere montato sulle pinne 
tecniche poichè il tallone rimane 
completamente all'esterno della base della 
pinna e la talloniera, regolata alla massina 
estensione, non riesce a contenerlo.

La slitta di regolazione della talloniera di 
Finclip ha una corsa tale da non 
permettere la calzata a calzari di taglia 
superiori al 46 EU-IT (UK size 11- USA 
size12).

Per evitare rotture, evitare di camminare 
con le pinne quando Finclip è montato.

Garanzia: Il prodotto è garantito contro 
ogni difetto di conformità in normali 
condizioni di utilizzo secondo quanto 
previsto dalle istruzioni d’uso. La garanzia 
non sarà applicata, dunque, in caso di 
danni derivanti da un uso improprio, usura 
o eventi accidentali. Per la durata della 
garanzia sui difetti di conformità si rinvia 
alle specifiche previsioni delle normative 
nazionali applicabili nel paese d’acquisto, 
dove previste.

Visita finclip.it per trovare questo manuale 
in altre lingue e per avere maggiori 
dettagli sul prodotto.

FR - Un exemple de comment ranger vos 
palmes.

IT - Un esempio di come poter appendere 
le pinne dopo l’uso.

MODE D’EMPLOI / ISTRUZIONI D’USO

NOTICE ET GARANTIE / AVVERTENZE E GARANZIA

MANUEL D’INSTRUCTION /
MANUALE DI ISTRUZIONI

FR/IT

SP - Retire completamente los pernos de 
cabeza Allen de la abrazadera y la placa 
deslizante ajustable del talón.

EN - Completely remove the Allen head 
bolts on the clamp and adjustable sliding 
heelpiece plate.

SP - Sujete firmemente la parte superior de la abrazadera, deslice la placa del talón ajustable 
hacia atrás (B2) y luego gírela ligeramente (B3) para retirarla por completo de la abrazadera 
(B2).

EN - Hold the topside of the clamp firmly, slide the adjustable heelpiece plate all the way back 
(B2) and then twist slightly (B3) to completely remove it from the clamp (B2).

SP - Abra completamente la abrazadera y luego, presionando en la dirección de las flechas (B5) 
mueva los pasadores, uno a la vez, desde el orificio A al orificio B (B6,B7).

EN - Fully open the clamp then, by pressing in the direction of the arrows (B5) move the pins, 
one at a time, from hole A to Hole B (B6,B7).

SP - Coloque la placa del talón deslizante 
ajustable nuevamente en su posición 
original en la abrazadera.

EN - Place the adjustable sliding heel plate 
back in its original position on the clamp.

SP - Coloque los pernos de cabeza Allen 
nuevamente en su posición original, 
asegurándose de que el lado estriado de 
los pernos de la placa deslizante ajustable 
del talón estén colocados en la parte 
inferior de la abrazadera.

EN - Place the Allen head bolts back in 
their original position, making sure that 
the ridged side of the adjustable sliding 
heelpiece plate bolts are positioned on the 
underside of the clamp.

SP - Vuelva a colocar los tornillos de la 
abrazadera con tornillos M5x22 (vea la 
ilustración 9 en la vista en despiece) y siga 
las instrucciones de (A2).
.
EN - Replace the clamp screws with M5x22 
screws (see illustr. 9 on the exploded view) 
and follow the instructions from (A2).

SP - Mientras sostiene su aleta en sus 
manos, abra el talón para tensar el 
elástico.

EN - While holding your fin in your hands, 
open the heelpiece to tension the elastic.

SP - Coloque la aleta en el suelo y use su 
pie para mantenerla firme.

EN - Put the fin on the ground and use your 
foot to hold it firm.

SP - Deslice su pie libre hasta la aleta.

EN - Slide your free foot all the way into 
the fin.

SP - Una vez que su pie esté cómodamente 
adentro, levante ligeramente los dedos de 
los pies y empuje suavemente hacia abajo 
con el talón. La pieza del talón se cerrará 
automáticamente.

EN - Once your foot is comfortably inside, 
slightly raise your toes and gently push 
down with your heel. The heelpiece will 
automatically close.

SP - Repita el paso anterior para ponerse 
la otra aleta.

EN - Repeat the step before to don the 
other fin.

SP - Para quitar las aletas en el agua, baje 
el talón con la mano...

EN - To remove your fins in water, lower the 
heelpiece with your hand…

SP -  ...y empujarlo hacia adelante. 
Descubrirá que la pieza del talón es una 
excelente manera de superar el efecto de 
succión entre el pie y la aleta y eliminar 
fácilmente las aletas en el agua.

EN - …and push it forwards. You’ll find that 
the heelpiece is a great way to overcome 
the suction effect between foot and fin and 
easily remove your fins in water.   

SP - Una forma sugerida de colgar las 
aletas cuando no esté en uso.

EN - A suggested way of hanging your fins 
when not in use.

SP 

Lea todas las instrucciones en este folleto 
antes de armar/usar este producto.

Advertencia: Mantener fuera del alcance 
de los niños. El producto contiene piezas 
que, si se ingieren, pueden provocar 
asfixia.

Póngase en contacto con el fabricante en 
caso de piezas desgastadas y / o 
defectuosas.

Advertencia: finclip es un accesorio de 
buceo recreativo. No use Finclip cuando 
bucee en grutas o restos de naufragios.

Advertencia: Siempre use botas de buceo 
cuando use Finclip.

Advertencia: No pisar la pieza del talón 
cuando Finclip se coloca en el suelo con el 
elástico tensado (W1).

Advertencia: Una bota de buceo debe 
colocarse dentro de la aleta antes de 
permitir que la pieza del talón se ajuste 
hacia arriba (W2).

Advertencia: Mantenga las manos fuera del 
camino cuando permita que la pieza del 
talón se rompa hacia arriba (W3).
 
Advertencia: compruebe la posición del 
protector elástico curvo antes de bajar la 
pieza del talón y después de bajarla. Si el 
protector se ha torcido (W4), vuelva a 
colocarlo como se ilustra en la figura A16.

Advertencia: verifique el posicionamiento 
correcto de la parte superior de la 
abrazadera en relación con el grosor de su 
aleta. Asegúrese de que la aleta esté 
insertada completamente en la parte 
posterior de la abrazadera y de que no se 
mueva (W5,W6).

Para mayor seguridad, antes de ingresar al 
agua mientras usa Finclip, asegúrese de 
que el dispositivo esté colocado 

correctamente y que no haya piezas 
dañadas.

Cambiar o alterar partes de Finclip puede 
dar lugar a resultados impredecibles más 
allá de la responsabilidad del fabricante.

El fabricante no asumirá ninguna 
responsabilidad derivada de 
consecuencias imprevistas debido al uso 
incorrecto de finclip.

Se recomienda enjuagar Finclip con agua 
fresca después de cada inmersión. No deje 
Finclip a la luz solar directa durante largos 
períodos de tiempo.

Finclip no se puede instalar en aletas 
técnicas ya que la parte posterior de este 
tipo de aletas permanece debajo del pie. 
La pieza del talón del clip de aleta, incluso 
en la extensión máxima, no tiene suficiente 
alcance para contener el talón.

La placa de la pieza del talón deslizante 
Finclip no se puede ajustar para contener 
tamaños de botas más allá del tamaño 
EU-IT 46 (tamaño del Reino Unido 11- 
tamaño de EE. UU. 12)

Para evitar roturas, no camine con Finclip 
montado en las aletas.

Garantía: Este producto está garantizado 
contra cualquier defecto en el 
cumplimiento en condiciones normales de 
operación como se especifica en las 
instrucciones de operación. La garantía no 
se aplicará a daños resultantes del uso 
incorrecto, desgaste o eventos 
accidentales. Para la duración de la 
Garantía con respecto a defectos de 
fabricación, consulte las disposiciones 
nacionales específicas aplicables en el país 
de compra donde se proporcionen.

Visite finclip.it para encontrar esta guía del 
usuario en idiomas adicionales, más 
detalles e información adicional.

EN

Read all the instructions on this leaflet 
before assembling/using this product.

Warning: Keep out of the reach of children. 
The product contains parts that, if 
ingested, can lead to suffocation.

Contact the manufacturer in the case of 
worn and/or defective parts.

Warning: finclip is a recreational diving 
accessory. Do not use Finclip when diving 
in grottos or wrecks. 
 
Warning: Always wear dive boot when using 
Finclip.

Warning: Do not tread on the heelpiece 
when Finclip is placed on the ground with 
the elastic tensioned (W1).

Warning: A dive boot must be positioned 
inside the fin before allowing the heelpiece 
to snap upwards (W2).

Warning: Keep your hands out of the way 
when allowing the heelpiece to snap 
upwards (W3).

Warning: check the position of the curved 
elastic protector before lowering the 
heelpiece and after it has been lowered. If 
the protector has twisted around (W4), 
reposition it as illustrated in figure A16.

Warning: check the correct positioning of 
the upper part of the clamp in relation to 
the thickness of your fin. Make sure that 
the fin is inserted all the way to the back 
of the clamp and that it doesn’t move 
(W5,W6).

For greater safety, before entering the 
water while wearing Finclip, make sure that 
the device is correctly positioned and that 
no parts are damaged. 

Changing or tampering with parts of Finclip 
may result in unpredictable outcomes 

beyond the manufacturer's liability
 
The manufacturer will not assume any 
liability arising from unforeseen 
consequences due to the incorrect use of 
finclip. 

You are advised to rinse Finclip with fresh 
water after each dive. Do not leave Finclip 
in direct sunlight for long periods of time. 

Finclip cannot be installed onto technical 
fins as the back of this type of fin remains 
under foot. The finclip heelpiece, even at 
the maximum extension,does not have 
sufficient reach to contain your heel.

The Finclip sliding heelpiece plate cannot 
be adjusted to contain boot sizes beyond 
EU-IT size 46 (UK size 11- USA size12). 

To avoid breakage, do not walk with Finclip 
mounted on the fins.

Warranty: This product is guaranteed 
against any defect in compliance under 
normal operating conditions as specified in 
the operating instructions. The warranty 
will not be applied to damage resulting 
from improper use, wear or accidental 
events. For the duration of the Warranty 
with regard to manufacturing defects, 
please refer to the specific national 
provisions applicable in the country of 
purchase where provided.

Visit finclip.it to find this user guide in 
additional languages, greater detail and 
further information.

 INSTRUCCIONES DE USO / USE INSTRUCTIONS

ADVERTENCIAS Y GARANTÍA/ WARNINGS AND WARRANTY

 MANUAL DE INSTRUCCIONES /
INSTRUCTION MANUAL

SP/EN
0 735720 314839

ART.CODE 60.01

DE - Entfernen Sie komplett alle 
Inbusschrauben an der Basisklemme und 
dem Befestigungsschlitten.

EN - Completely remove the Allen head 
bolts on the clamp and adjustable sliding 
heelpiece plate.

DE - Schieben Sie den Befestigungsschlitten ganz nach hinten (B2). Drücken Sie ihn nun ganz 
vorsichtig (B3) aus der Basisklemme heraus (B4).

EN - Hold the topside of the clamp firmly, slide the adjustable heelpiece plate all the way back 
(B2) and then twist slightly (B3) to completely remove it from the clamp (B2).

DE - Nun müssen Sie die Rückseite der Basisklemme vorsichtig so zusammendrücken (B5), dass 
Sie den Befestigungspin aus Loch A heraushebeln (B6) und in Loch B wieder einfügen können 
(B7).

EN - Fully open the clamp then, by pressing in the direction of the arrows (B5) move the pins, 
one at a time, from hole A to Hole B (B6,B7).

DE - Platzieren Sie nun die 
Befestigungsplatte wieder an der 
Basisklemme.

EN - Place the adjustable sliding heel plate 
back in its original position on the clamp.

DE - Befestigen Sie die Imbusschrauben an 
der Befestigungsplatte. Stellen Sie dabei 
sicher, dass sich die gezahnte Seite des 
Befestigungsschlittens an der gezahnten 
Seite der Basisklemme befindet.

EN - Place the Allen head bolts back in 
their original position, making sure that 
the ridged side of the adjustable sliding 
heelpiece plate bolts are positioned on the 
underside of the clamp.

DE - Ersetzen Sie die Klemmenschrauben 
durch M5x22 Schrauben (siehe 
Explosionszeichnung in Abb. 9) und folgen 
Sie den Anweisungen von (A2).

EN - Replace the clamp screws with M5x22 
screws (see illustr. 9 on the exploded view) 
and follow the instructions from (A2).

DE - Halten Sie die Flossen und öffnen Sie 
das Fersengelenk um die gewünschte 
Spannung des Bungees einzustellen.

EN - While holding your fin in your hands, 
open the heelpiece to tension the elastic.

DE - Fixieren Sie die Flossen mit ihrem Fuß 
auf dem Boden.

EN - Put the fin on the ground and use your 
foot to hold it firm.

DE - Steigen Sie mit dem anderen Fuß in 
die Flosse und rutschen ganz nach vorne. 
Den zweiten Fuß von der Flosse nehmen 
und festen Stand einnehmen bevor sie 
Schritt S4 ausführen.

EN - Slide your free foot all the way into 
the fin.

DE - Winkeln Sie den Fuß an wie wenn Sie 
ihre Zehen nach oben strecken wollen. 
Dabei wird automatisch die Ferse auf den 
Boden gedrückt - der Fersenhebel schließt 
sich dadurch.

EN - Once your foot is comfortably inside, 
slightly raise your toes and gently push 
down with your heel. The heelpiece will 
automatically close.

DE - Das wiederholen Sie dann mit der 
anderen Flosse.

EN - Repeat the step before to don the 
other fin.

DE - Um Ihre Flosse auszuziehen, müssen 
Sie einfach nur den Fersenhebel manuell 
nach hinten bzw. unten drücken...

EN - To remove your fins in water, lower the 
heelpiece with your hand…

DE - ...und ihn dann nach vorne schieben. 
Auf diese Art läßt sich ihre Flosse ganz 
leicht ausziehen, weil sich Füssling und 
Flosse nicht gegenseitig ansaugen. 
Probieren Sie es aus!

EN - …and push it forwards. You’ll find that 
the heelpiece is a great way to overcome 
the suction effect between foot and fin and 
easily remove your fins in water.   

DE - Nur eine Idee zum Aufhängen Deiner 
Flossen.

EN - A suggested way of hanging your fins 
when not in use.

DE

Lesen Sie sorgfältig alle Anweisungen in 
dieser Packungsbeilage bevor Sie das 
Produkt zusammenbauen.

Achtung: Außerhalb der Reichweite von 
Kindern aufbewahren. Das Produkt enthält 
Teile, die bei Verschlucken zum Ersticken 
führen können.

Achtung: Bei Verschleiss von Teilen oder 
bei einer Funktionsstörung bitte den 
Hersteller kontaktieren.

Achtung: Finclip ist ein Zubehör für das 
Sporttauchen. Nicht für Höhlentauchen 
oder Wracktauchen verwenden.

Achtung: Den Finclip nur mit den 
entsprechenden Schuhen verwenden.

Achtung: Treten Sie nicht auf die 
Fersenhebel, wenn sich das Gerät auf dem 
Boden befindet und das Bungee gespannt 
ist (W1).

Achtung: Aktivieren Sie den 
Schließmechanismus des Fersenhebels 
nicht, ohne den Schuh in die Finne 
eingeführt zu haben (W2).

Achtung: Beim Aktivieren des 
Schließmechanismus nicht mit den Händen 
in den Bereich des Fersenhebels oder in 
die Flosse greifen (W3).

Achtung: überprüfen Sie sorgfältig die 
genaue Einstellung des gebogenen 
–Bungeeschutzes, bevor Sie den 
Fersenhebel runterlassen. Falls sie 
verdreht wurde (W4), bitte erneut 
einstellen (siehe Abbildung A16).

Achtung: überprüfen Sie die genaue 
Einstellung der oberen Seite der Klemme 
im Hinblick auf die Stärke Ihrer Flosse. 
Vergewissern Sie sich, dass die Flosse 
richtig sitzt und bis zum extremen Ende 
der Klemme platziert ist und somit festsitzt 
(W5, W6).

Überprüfen Sie zur Gewährleistung der 
Sicherheit vor dem Tauchen die korrekte 
Positionierung und Intaktheit der 
Vorrichtung.

Änderungen oder Manipulationen von 
Teilen des Finclips können zu 
unvorhersehbaren Ergebnissen führen, für 
die der Hersteller von der Haftung 
ausgenommen ist.

Die unsachgemäße und nicht vorgegebene 
Verwendung kann zu Folgen führen, die 
nicht vorausgesehen werden können und 
von deren Haftung der Hersteller 
ausgenommen ist.

Es empfiehlt sich, den Finclip nach jedem 
Tauchgang mit Süßwasser abzuwaschen 
und ihn vor einer längeren Einwirkung von 
Sonnenlicht zu schützen.

Finclip kann nicht auf technische Flossen 
montiert werden, da die Ferse vollständig 
außerhalb des Flossenbodens bleibt und 
daher nicht von der Klemme aufgenommen 
werden kann.

Der Befestigungsschlitten des 
Fersenhebels von Finclip lässt sich bis 
max. Füßling-Größe 46 EU-IT (UK Size 11- 
USA Size 12) einstellen.

Um einen Bruch zu vermeiden, nicht mit 
Flossen mit montierten Finclips laufen

Garantie: Die Garantieleistung gilt bei allen 
Konformitätsmängeln, die trotz normaler 
Gebrauchsbedingungen gemäß der 
Gebrauchsanweisung auftreten. Schäden 
durch unsachgemäßen Gebrauch, 
Abnutzung oder unvorhergesehene 
Ereignisse fallen nicht unter die 
Garantieleistung. Bezüglich der 
Garantiedauer auf Konformitätsmängel 
beachten Sie bitte die nationalen 
Rechtsvorschriften des Kauflandes.

Lesen Sie mehr auf finclip.it oder rufen Sie 
dieses Benutzerhandbuch in weiteren 
Sprachen ab.

EN

Read all the instructions on this leaflet 
before assembling/using this product.

Warning: Keep out of the reach of children. 
The product contains parts that, if 
ingested, can lead to suffocation.

Contact the manufacturer in the case of 
worn and/or defective parts.

Warning: finclip is a recreational diving 
accessory. Do not use Finclip when diving 
in grottos or wrecks. 
 
Warning: Always wear dive boot when using 
Finclip.

Warning: Do not tread on the heelpiece 
when Finclip is placed on the ground with 
the elastic tensioned (W1)

Warning: A dive boot must be positioned 
inside the fin before allowing the heelpiece 
to snap upwards (W2).

Warning: Keep your hands out of the way 
when allowing the heelpiece to snap 
upwards (W3).

Warning: check the position of the curved 
elastic protector before lowering the 
heelpiece and after it has been lowered. If 
the protector has twisted around (W4), 
reposition it as illustrated in figure A16.

Warning: check the correct positioning of 
the upper part of the clamp in relation to 
the thickness of your fin. Make sure that 
the fin is inserted all the way to the back 
of the clamp and that it doesn’t move 
(W5,W6).

For greater safety, before entering the 
water while wearing Finclip, make sure that 
the device is correctly positioned and that 
no parts are damaged. 

Changing or tampering with parts of Finclip 

may result in unpredictable outcomes 
beyond the manufacturer's liability
 
The manufacturer will not assume any 
liability arising from unforeseen 
consequences due to the incorrect use of 
finclip. 

You are advised to rinse Finclip with fresh 
water after each dive. Do not leave Finclip 
in direct sunlight for long periods of time. 

Finclip cannot be installed onto technical 
fins as the back of this type of fin remains 
under foot. The finclip heelpiece, even at 
the maximum extension,does not have 
sufficient reach to contain your heel.

The Finclip sliding heelpiece plate cannot 
be adjusted to contain boot sizes beyond 
EU-IT size 46 (UK size 11- USA size12). 

To avoid breakage, do not walk with Finclip 
mounted on the fins.

Warranty: This product is guaranteed 
against any defect in compliance under 
normal operating conditions as specified in 
the operating instructions. The warranty 
will not be applied to damage resulting 
from improper use, wear or accidental 
events. For the duration of the Warranty 
with regard to manufacturing defects, 
please refer to the specific national 
provisions applicable in the country of 
purchase where provided.

Visit finclip.it to find this user guide in 
additional languages, greater detail and 
further information.

WIE SIE FINCLIP BENUTZEN / USE INSTRUCTIONS

WARNHINWEISE UND GARANTIE / WARNINGS AND WARRANTY

WIE SIE FINCLIP ZUSAMMENBAUEN /
INSTRUCTION MANUAL

DE/EN
0 735720 314839

ART.CODE 60.01


